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F & T KO M F FERER R7.7.1 | R6.7.1 |Z% ) %
mks (R —1 re KA T PR PR T 5 1 229807 1 15,600| 15,800 A 1.3 A 200
AR (R —2 AR T AT 141758 36,100| 36,200 A 0.3 A 100
S (R) —3 A T LA RT R 6067 5 35,700  35,800| A 0.3 A 100
A () —4 ARG ERT1T B513%2 T EBT1—2—24) 108,000 106,000 1.9 2,000
mia (i) —5 AT /W7 2957113 M5 /K738 —2) 49,600 49,800 A 0.4 A 200
mf (i) —6 AR NI T 29853 24,100| 24,100 0.0 0
ks (R —7 AR T =4 IT T8RS TR6475 14 34,500 34,500 0.0 0
mf (R —8 RN AGLIRE: SN (RT3 —6) 165,000| 162,000 1.9 3,000
mks () —9 A4 EAT2 T H 207 1144 98,300( 97,200 1.1 1,100
AR (R) —10 | mEAs T ARALIT R L 56 % 124 20,900| 20,900 0.0 0
() —11 | ST =405 FET224756 76,800 75,500 1.7 1,300
AR (R —12 (@A R PE2110% 12 22,700| 22,800 A 0.4 A 100
ks (R) —13  [EARTTACKETFHUET B 2901758 55,900 55,600 0.5 300
AR —14  |mARHEEFINT2 T H 32755 THEAIBT2— 11— 19) 112,000 110,000 1.8 2,000
mka (R —15 AR ES SERTHUE T ARF 57084 33,700| 33,700 0.0 0
FRA () —16  |EARTKE ERTS/E645%6 67,800| 67,500 0.4 300
mis () —17  |ERT AR LTSRN 174476 49,500| 49, 200 0.6 300
Ea (R —18  |EATH=EITE1851%4 74,500 73,300 1.6 1,200
mis (B —19 | ERTHRETRIT 774353 18,400 18,700| A 1.6 A 300
AR —20  |EARTIERIT TS H3692% 11 11,900 12,100{ A 1.7 A 200
mis (W) —21  |@RTACKETS110% 1144 74,500 73,300 1.6 1,200
mRA () —22  |@EARTTARKEIT A4 T AT4300%8 45,900| 45,800 0.2 100
ER(R) —23  [ERTZE LR R252%3 51,800 51,000 1.6 800
(R —24 | EAaT#R A TR 120375 36,600| 36,400 0.5 200
() —25 | E A TR N 85279 29,000| 29,000 0.0 0
Eka () —26 | EAATHII 2R LRI 24756 11,600 11,700 A 0.9 A 100
mka () —27 (SR ARALIT R T T 126872 17,100  17,200{ A 0.6 A 100
ERA(R) —28 (AR AR EE #2039 15 33,500 33,500 0.0 0
N (IR) —29 @k EZETLT B7ES M2 i 1—7—18) 126,000| 124,000 1.6 2,000
ks (B —30  |mAATHRH FHT @A 2223%1 65,300( 64,800 0.8 500
ks () —31  [EARTHTAA LRTT 4k F1 648758 41,100| 40,900 0.5 200
ERA R —32  |[EARHHIITIT R TS 1S Rk mi445% 1 11,100{ 11,200 A 0.9 A 100
ks () —33  [EARTiE AT A 4 196377 26,100| 26,100 0.0 0
ERA () —34 | R4 ENT610%9 23,800 24,100 A 1.2 A 300
ks () —35  [mARTHTEIT KB 5 25162 10 27,000{ 27,000 0.0 0
ERAR) —36  [ERHEET3T H 1438 [3RHT3— 14— 30 302,000 289,000 4.5 13,000
ER(R) —37  [FARTIAT o 151272 22,600 22,800| A 0.9 A 200
ks (B —38 | @ AT RN B FH2608% 744 37,800| 37,600 0.5 200
A (IR) —39  |EARTIASRETE FIH1927%8 31,800| 31,800 0.0 0
R —40 | EAATTHET T 1095 44,700 44,200 1.1 500
EROR) —41 [T RRT R ART66 17 14 31,300| 31,100 0.6 200
BB —42  |EiarrEs i T i pr399% L 35,500| 35,500 0.0 0
ERY () —43 [ EARET 351 %3 38,900| 38,300 1.6 600
B (R) —44 (AR AR ALIT T H T 6207515 26,900| 26,900 0.0 0
A (IR) —45 | s ARALET AR AL R 4h208 1552 32,900| 32,900 0.0 0
R () —46 [ E AT e T 7G5 o 51372141 16,500| 16,600 A 0.6 A 100
Eka () —47 (AT ARALET RIS B 733% 1 21,500 21,500 0.0 0
(R —48  |mAATTEMEIT2 T H25%29 T HT2-25-18 ) 56,200( 56,200 0.0 0
mka () —49  [EARTARALIT AL AGB3T20% 431 22,900| 22,900 0.0 0
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ks () 5—1 A TIARIET LT H 1387 144 THEAIRT1—1—20) 139,000| 137,000 1.5 2,000
s () 5—2 R T BT 15837 144 34,000| 34,000 0.0 0
s (W) 5—3 AT AT SR R AR 198 % 240 73,400| 73,200 0.3 200
mia () 5—4 FRATHIR A RT21037% 145+ 131,000 130,000 0.8 1,000
s () 5—5 EAA T KA RT6%6 [ K #4116 — 6 220,000 216,000 1.9 4,000
L () 5—6 ERATIEENT LT B 73394 THELIT1 —7—26 ) 118,000 117,000 0.9 1,000
mks () 5—7 RS THALAE LT S 1 F 84272 51,500 51,400 0.2 100
s ()58 kAT B2 T B 9921 M FBT2—8—19) 113,000 113,000 0.0 0
s (W) 5—9 EA T AR S AR 9164 62,400| 62,200 0.3 200
S (JR)5—10 | Ei AR i s LIRTRT 2 )\ [ HE34 776 43,100| 43,100 0.0 0
AR 5—11 T ERT2%Ee5 480,000| 465,000 3.2 15,000
F () 5—12 | EAATTRMITI%E4 [ [AnT9—17) 168,000 165,000 1.8 3,000
R (R)5—13 |RRTARMH LATF FR749%7 74,000 - — —
ER(R)5—14  [FARTTHRITRTRR R 2 71383 %7 21,600{ 21,700 A 0.5 A 100
AR () 5—15  |@EARTiE) T KB FAA 72171 44,300 44,400 A 0.2 A 100
B (J)5—16  |ERiFIT836%354 [H5MT19-6) 72,800| 72,400 0.6 400
AR () 9—1 AT H T 1638 %65) 23,700| 23,700 0.0 0
s (I 9—2 AR TR TR IT 8T B63922% 77 11,700  11,900] A 1.7 A 200
mifa (F)9—3 kA T )BT PN R 157075 1 15,100 15,100 0.0 0
L () 9—4 A T G SR MT 547 7R 354 36,500| 36,500 0.0 0
mifs (F)9—5 AT AT 5 54580 1 22,900 23,200] A 1.3 A 300
hufa () —1 AFTTRRF BT T 48776 28,700| 28,600 0.3 100
S (R) —2 LA TN 15 35132437 21,800, 21,800 0.0 0
A (R) —3 SR TR KT SEAR R T T 41872 21,500( 21,600 A 0.5 A 100
A (R) —4 AT LRI PET T H 1503 1 43,000|  43,200| A 0.5 A 200
A (R) —5 LA TR AT ] B 5 75 8T 156 % 1 18,100| 18,300 A 1.1 A 200
Hfe () —6 AT A-E T AE 71,300{ 71,100 0.3 200
hf(R) —7 AT LRI HRAT B517% 37,700| 37,700 0.0 0
Fufe () —8 U TR LT 35 B S B 59476 26,300| 26,300 0.0 0
e () —9 AL TR 24151 30,500| 30,500 0.0 0
A () —10  |SUERTIARERATVE 535 [E FH 3208 1 23,400| 23,500 A 0.4 A 100
U () — 11 LA AR 5 FL941 %S5 46,400| 46,400 0.0 0
Fufe (R)5—1 AL TR 355 1 64,800  64,900] A 0.2 A 100
FLA () 5—2 AL THTHEFITE FT4097% 141 60,800| 60,900 A 0.2 A 100
Hufe (R)5—3 AT AR50 % 344 93,900| 93,500 0.4 400
Hf () 5—4 FLE AR N TAE 5 186375 1 51,3001 51,500 A 0.4 A 200
Hfe () 5—5 ALETHTHRRTLT B 1615E34+ [efRFHT1-6-39 ) 74,500| 74,500 0.0 0
FL () 9—1 AL AT 54 %244 19,900 19,900 0.0 0
S () —1 ST AUNT 575 FH 6188 21,600 21,800] A 0.9 A 200
W) —2 W R R B I ZN20872% 18,400 18,800| A 2.1 A 400
S () —3 ST T 2 3 1223373 21,800 22,0001 A 0.9 A 200
B (R) —4 B TTARNT2 T H4324%13 [AHT2—3—13) 39,600( 39,700 A 0.3 A 100
(R —5 S TR T R 5553 172 20,600| 20,700| A 0.5 A 100
B () 5—1 PHTARTS T B1716% [ANT3—6—14) 50,600{ 51,000 A 0.8 A 400
St (J)5—2 ST AEET LT H 434535 105+ TAERTL—1—24) 42,900 43,400 A 1.2 A 500
S (1) 5—3 SRR LT A 37937 1841+ [IT1—2—13) 65,200( 65,800 A 0.9 A\ 600
S () 9—1 SR PR RT3 R 1428535 187 13,600 13,400 1.5 200
B () 9—2 B TTIEAINTLT B 1025% 1 [EFINT1—2—23) 27,000( 27,300 A 1.1 A 300
FTlF () —1  [FdSFl & AT = AR 1569%21 19,900 20,100{ A 1.0 A 200
F@E(R) —2 | BEFTRFIEAR 6329511 22,800 22,900 A 0.4 A 100
Ewiw (R) —3 |l iR R 5 152435 22,400| 22,400 0.0 0
s (L) —4 | SRR 7 AD  R 188278 19,400 19,600 A 1.0 A 200
TMF (W) 5—1  [FHlSF B HIT3T A 9743254 [ b7 MlT3—2—5) 58,100| 58,400 A 0.5 A 300
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BEFUY —1  |BIESFEIE SFRT T H P 25408 1 29,300{ 29,400 A 0.3 A 100
BFFOR) —2 |8 iSRRI E TR 22123 14,900 15,100] A 1.3 A 200
BEF(R) —3  |[BEFliE T T5E 1249710 24,400 24,500 A 0.4 A 100
B —4 B FTREFIT KRBT FHAha727% 1 17,200 17,400] A 1.1 A 200
BLESF(R) —5  [BESFi KRBT KRB 55111210375 20,300  20,500] A 1.0 A 200
BEF(R) —6 |l -Fili KR FETHE S R A18807F4 14,000 14,200( A 1.4 A 200
Blsr (W) 5—1 |8 SFliiTT T H K 155138124+ [5HT1-4-13) 58,600( 59,100 A 0.8 A 500
BEE(R)9—1  [BIEFFH = ARETAT H H 411871146 [ = ARFAHT4—2—80) 14,000 14,000 0.0 0
BEF(R)9—2 Bl <57 RmT o H ik & 48 15317518 11,800{ 11,700 0.9 100
JhE () —1 | SdaddiEmITE R ET820354 21,800( 22,200 A 1.8 A 400
ShE(R) —2 (SR TEETHER2290% 12 37,300 37,400 A 0.3 A 100
ShEF(R) —3 (SN AR 2880% 18 16,500 16,800 A 1.8 A 300
JWx () —4  |SRETTREREE B 60059 23,600 23,700 A 0.4 A 100
IWE(R) —5  |SEliEH LT ARS8 ET 20,300|  20,400| A 0.5 A 100
SME () —6 | ST IITE H P KiE 255972 14,800 15,000 A 1.3 A 200
JE(F)5—1 | iEEFHP655%] 47,400 47,700 A 0.6 A 300
SHEF () 5—2 | S iis) 0T 47 H LSRN FH 92084+ 28,100 28,3001 A 0.7 A 200
IWE(R)9—1 |SRETEETEMA1298%344+ 14,100 14,200{ A 0.7 A 100
Bpsp(R) — 1 [ hTi 7182784 16,500 16,700 A 1.2 A\ 200
BPSOUR) —2 (2SO F/ T 1703%9 14,200| 14,400 A 1.4 A 200
Hvb(R) —3 [ 0doT = ARK803F4 23,300 23,900| A 2.5 A 600
B () 5— 1 [HAAvbihiEF /K A1887%:2 34,100 34,900 A 2.3 A\ 800
Fvo () 9— 1 | H ¥ b ik N2008 12 9,000 9,000 0.0 0
=80 -1 S T TSRS T 34452 18,100 18,200f A 0.5 A 100
SE(R) -2 B TTRE MM RE R T E25 T 17,500{ 17,700| A 1.1 A 200
=8 -3 SRR R R 2T 14 16,300 16,500| A 1.2 A 200
R —4 T LAHT KB R 269 7% 28 15,400 15,600[ A 1.3 A 200
=B(R) -5 BRI R #K 2504% 1 9,920 10,100{ A 1.8 A 180
R —6 T AT I e 31256 % 1 12,600| 12,800 A 1.6 A 200
=8 -7 ST =BT R LR R 550084 14,700| 14,900 A 1.3 A 200
ZB(R) -8 BT IR T £ 19807 1 13,000{ 13,100] A 0.8 A 100
=80 -9 ST =BT R L 1580722 22,600( 22,900 A 1.3 A 300
ZE(R) —10 | ZBHEShEr L RS FR4107EL3 19,500 19,400 0.5 100
SEO) 11 ([ ZEHMETHE ETARO T1926%1 11,400 11,600[ A 1.7 A 200

=B(R)5—-1 ZEHBHETALFFEHMN1334F4 22,700 - — —
=852 = TR RN AR L2780 17 34,500|  34,800| A 0.9 A\ 300
8091 ZETTREMIPTFEM TR R 21128 1165+ 11,100{ 11,100 0.0 0
THEC) —1 ANERR LR (R ER T E R 177534 12,000| 12,200 A 1.6 A 200
TER) —2 NGB ERT BT R ARRER1990% 1 30,500 31,000] A 1.6 A 500
TR 51 ZINEERD - FE TR 5 PR R 212895 41,800 42,500 A 1.6 A 700
NI (R =1 [NERRINE ST & BN 12597 1 6,730 6,800 A 1.0 A 70
AR (R) —2 [/NGRER N RN RREARNT 5 )1 7549995 20,700  21,200| A 2.4 A\ 500
ANERG(R) =3 NEEVNE R PR S LR 167875 17,100{ 17,300 A 1.2 A 200
NG R —4 [INEERN G T A 135573 19,100 19,300[ A 1.0 A 200
ANER(R) =5 [NEE R IT S A AT 328 % 1 10,500 10,600( A 0.9 A 100
NG (R 5—1 /NGRS T A 8867 3 27,300| 27,500 A 0.7 A 200
ANELR (W) 9—1  [/NE BB/ SR I P R 7 F 2266 %2 16,700 17,200 A 2.9 A 500
=AW —1 AHBE AR KTOK EFAERI27ES 26,900 27,000 A 0.4 A 100
ZARR) —2 AR HER = AR K5 T 5\ 7 145056 24,000| 24,000 0.0 0
=AUR)5-1 A HAS = AN KRR T Fr336%24+ 33,000 33,300] A 0.9 A 300
EVNUOEES! R HER = AR RS H T AR 1789 % 1 13,200{ 13,200 0.0 0
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B () —1 ) | BT 5 BT 5 /T 196776 1 22,500 22,000 2.3 500
B () —2 )| BB & BT #4782 15 15,800 15,400 2.6 400
B (R) —3 B VBRI M5 5 F T 7852 22,300 21,800 2.3 500
B () 9—1 B )| R E E M - A7 268 18 150 12,500 12,500 0.0 0
FLEHEULY) —1  |fERECFE SR TR T802% 14+ 26,200| 26,200 0.0 0
FLEGY) —2  |[fEHRETLEITIE-LE T 103%10 55,600( 55,100 0.9 500
FHH(R) —3 IS R T R F IR AR2955% 21,100  21,300] A 0.9 A 200
FLE )51 |[FEREFL R R\ F T 122716 50,300|  50,400| A 0.2 A 100
FHH () 5—2  |EHERG S HNT KT R FAAT 191551244 47,100 47,100 0.0 0
IR —1 Fe RIS AT (L b B 153677 12,700 12,900| A 1.6 A 200
IR —2 AR | ITSPIR o) 15330 %4 11,700 11,800 A 0.8 A 100
I —3 o ApRAR AR ) | TSI PR 5211 F 1230976 13,400 13,500f A 0.7 A 100
IR —4 EARERE) | T & R F 437 % 12 25,000 25,1001 A 0.4 A 100
) (B 5—1 o ApAR A ) | T B =2 )1 AL 25183 7 38,200 38,6001 A 1.0 A 400
() 9—1 IR | ITSPIR b o7 P 528 %2 11,600 11,600 0.0 0
ZOE(R) —1 i 2 FERREEENT T 11713675 1 18,900| 19,200 A 1.6 A 300
() —2 2 BERRZE T AL/ N8 1215712 17,500| 17,700 A 1.1 A 200
P () 51 2 BERRZE AT 5)1 PH 7007841 47,200  47,400] A 0.4 A 200
ZIEE(R) —1 | R T2 T H 4731 [5M2—4—2) 33,800  33,900| A 0.3 A 100
() —2 [P EERRZ T R AT BI241 %33 21,800( 21,900 A 0.5 A 100
SR (W) 65— 1 |2 BB BEENT fh /0] 2,251 14+ [ /M6 —3) 34,600 34,800 A 0.6 A 200
SEEH(R)9—1 | EERRZS FE AT PE PRI 307 13,700{ 13,700 0.0 0
FADI () —1 |[hZERREAOINTE TN 111960%3 9,800 9,900 A 1.0 A 100
FADH(B) —2 |MZERREAOSNT IR [1889% 34+ 6,840 6,950 A 1.6 A 110
FADH(F) —3 [P ERREA OIMIILLFE T 34T 10,500{ 10,600 A 0.9 A 100
FADIR) —4 [MZEREAOINTE T 5 484753 12,100 12,200 A 0.8 A 100
FADIR) —5 |fFZERFAOIN HEEET FHH1519%9 17,300| 17,400 A 0.6 A 100
FADH(B)5—1 (ML EERREA DINT IS HAS 77352 28,000( 28,100 A 0.4 A 100
FADH(F)9—1 (I ZERREADINT 5 EFHER1725% 154 7,280 7,280 0.0 0
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